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APRJC MODEL PAPER-2

(Hï³BÆŠægôæïÜ Ððl*yýlÌŒæ õ³ç³ÆŠæ ----2-------)

1. Quantifier in the statement (x+y)2 = x2+2xy+y2 is –––––– (    ) 

(x+y)2 = x2+2xy+y2 {ç³Ð]l è̂l ]̄l…ÌZ §éWÄ¶æ¬ ]̄l² ç³ÇÐ]l*ç³MýS… 
1) ∃ 2) ∀ 3) ∃, ∀ 4) ∧

2. The counter example to show that every 2×2 matrix –––––– has inverse (    ) 

"{ç³† 2×2 Ð]l*{†MýSMýS$ ÑÌZÐ]l$… Ð]lÅÐ]líÜ®™èl…" ]̄lMýS$ {ç³™èl$Å§éçßæÆý‡×æ

1) 2)  3) 4) 

3. Find the value of x; if n(A∪B) =12 ––––––

n(A∪B)=12  AÆ‡¬™ól ç³MýSPç³r… ]̄l$…_ x ÑË$Ð]l ––––––
(    ) 

1) 18 2) 5 3) 2 4) 6

4. A– (A–B)=  –––––– (    ) 
1) B 2) 0 3) A∪B 4) A∩B

5. n(A) = 6, n(B) = 4, n(C) = 5, n(A∩B) = 2, n(B∩C) = 2, n(B∩C) = 2 n(C∩A) = 3 

n(A∩B∩C) = 1; then AÆ‡¬™ól n (A∪B∪C) = –––––– 
(    ) 

1) 10 2) 9 3) 15 4) 8
6. The number of functions  that can be defined from {5, 6, 7, 8} into {x, y, z} is –––––

çÜÑ$† {5,6,7,8} ]̄l$…_ çÜÑ$† {x,y,z}MýS$ °Æý‡Ó_™èlÐ]l$Äôæ$Å {ç³Ðól$Ä¶æ*Ë çÜ…QÅ –––––
(    )

1) 81 2)  64 3) 24 4) 12 

7. If  f(x) = AÆ‡¬™ól f–1(x)= ––––––––

(    )

1) 2) 3) 4) 
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8. If  f(x) =   then the value of (fofofof)(x) is =–––––––– (    )

f(x) =   AÆ‡¬™ól (fofofof)(x) ÑË$Ð]l?

1) x 2)  x2 3) x3 4) 0 

9. f = {(1, 2), (2, 3), (3, 4)}, g = {(2, 5), (3, 6), (4, 7)} then (gof)–1 is =   ––––––––

f = {(1, 2), (2, 3), (3, 4)}, g= {(2, 5), (3, 6), (4, 7)} AÆ‡¬™ól (gof)–1 =   ––––––––

(    )
1) {(1, 5), (2, 6), (3, 7)} 2) {(5, 1), (6, 2), (7, 3)

3) {(2, 5), (3, 6), (3, 7)} 4)  None

10. f: N→N; f = {(x, y)/y= x)} then f is a =   –––––––– (    )
1) one-one function 2) Identity function
3) constant function 4) None

f: N→N; f= {(x, y)/y= x)} AÆ‡¬™ól f A¯ól¨ –––––––– {ç³Ðól$Ä¶æ$….
1) A ó̄lÓMýS {ç³Ðól$Ä¶æ$… 2) ™èl™èlÞÐ]l$ {ç³Ðól$Ä¶æ$…
3) íÜ¦Æý‡ {ç³Ðól$Ä¶æ$… 4) H©M>§ýl$

11. Common root of x2+x–6 = 0, x2+3x–10=0 is =   –––––––– (    )

x2+x–6 = 0, x2+3x–10 = 0 ËMýS$ EÐ]l$Ãyìl Ð]lÊË…
1) –2 2) 2 3) –3 4) –5

12. If (x–1) is a factor of ax4+bx3+cx2+dx+e then the condition is =   –––––––– (    )

ax4+bx3+cx2+dx+c ºçßæ$ç³¨MìS (x–1) M>Æý‡×ê…MýS… AÆ‡¬™ól °Ä¶æ$Ð]l$…
1) a+c+e = b+d 2) a–b+c–d+e
3) a+b+c+d+e = 0 4) None

13. The number which is less than its square by 132 is = ––––––– (    )

JMýS çÜ…QÅ §é° Ð]lÆý‡Y… MýS…sôæ 132 ™èlMýS$POÐðl™ól B çÜ…QÅ –––––––

1) 11 2) 12 3) 15 4) 16

14. The graph x= my2 (m<0) passes through –––––– quadrants (    )

x = my2 (m<0) ]̄l$ çÜ*_… ó̂l Æó‡Rê_{™èl… –––––– ´ë§éË VýS$…yé ´ùÐ]l# ]̄l$.
1) I, II 2) II, III 3) I, IV 4) II, IV

15. If nc3= 84 then n = –––––––– (    )

nc3= 84 AÆ‡¬™ól n = ––––––––

1) 6 2) 7 3) 8 4) 9
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16. If the Isoprofit line moves away from the origin then profit (    )
1) does not change 2) become less 
3) becomes maximum 4) becomes minimum

Ð]lÊË ¼…§ýl$Ð]l# ]̄l$…_ ™èl$ËÅ¿êÆý‡Æó‡Q §ýl*Æý‡… fÇVóSMö©ª Ìê¿¶æ…
1) Ð]l*Æý‡§ýl$ 2) ™èlMýS$PÐ]lVýS$¯]l$
3) VýSÇçÙt… AVýS$ ]̄l$ 4) MýS°çÙt… AVýS$ ]̄l$

17. If (3,–4) lies in the region 3x+5y+k>0 then the least positive integral value of K is 

(3, –4) A ]̄l$ ¼…§ýl$Ð]l# 3x+5y+k>0 {´ë…™é°MìS ð̂l…¨™ól K VýSÇçÙt «§ýl ]̄lç³NÆ>~…MýS ÑË$Ð]l
(    )

1) 1 2) 10 3) 12 4) 13

18. If ax = by = cz and  then   = ––––––

(    )

ax = by = cz, AÆ‡¬™ól

1) 2)    3) 4) None 

19. If then –––––– belongs to the solution set (    )

Ýë«§ýl ]̄l çÜÑ$†MìS ð̂l…¨ ]̄l Ð]lÊËMýS… ––––––

1) 3 2) 2 3) 1 4) 0

20. = ––––––––– (    )
1) 0 2) 1/2 3) 1/5 4) ∝

21. The sum of first 6 natural numbers is 2.1, then the sum of their cubes is ––––––––

Ððl¬§ýlsìæ 6 çÜçßæf çÜ…QÅË Ððl¬™èl¢… 21 AÆ‡¬ ]̄l Ðésìæ çœ$¯éË Ððl¬™èl¢… 
1) 4 2) 443 3) 441 4) 444

22. The sum of three consecutive terms in a G.P. is 7 sum of their squares is 21, then the terms
are –––––––

(    )

VýS$×æ{ÔóæÉìlÌZE ]̄l² 3 Ð]lÆý‡$çÜ çÜ…QÅË Ððl¬™èl¢… 7, Ðésìæ Ð]lÆ>YË Ððl¬™èl¢… 21 AÆ‡¬ ]̄l B çÜ…QÅË$ 
1) 4, 2, 1 2) 6, 5, 2 3) 4, 3, 1 4) 1, 3, 9

2
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23. If  is the A.M. between a and b then  n = –––––––––

a, b Ë Ð]l$«§ýlÅ ]̄l$ ]̄l² A…MýSÐ]l$«§ýlÅÐ]l$…  AÆ‡¬™ól n = ––––––––– (    )

1) 1 2) -1 3) 0 4) 1/2

24. If  then  –––

AÆ‡¬™ól  (    )

1) x=y 2) 2x+4y = 4 3) 3x2 = y 4) x+y=8

25. If 3, 2, x are in H.P., then x = ––––––––

3, 2, x Ë$ çßæÆ>™èlÃMýS {ÔóæÉìlÌZ E…yól x ÑË$Ð]l  =–––––––– (    )

1) 2/3 2) √6 3) 1 4) 3/2

26. In the  figure ΔABC ∼ΔADC, then BC = –––––––– (    )

ç³r…ÌZ ΔABC ∼ΔADC, AÆ‡¬™ól BC =

1) 3. 6 2) 2.4 3) 1 4) 2

27. From the figure, x = ––––––––

ç³r… ]̄l$…_ x = –––––––––

(    )

1) 9 2) 4 3)  6 4) 5

1 1 1
.......... ;

3 9 27
y+ + + ∞ =

1 1 1 1
.......... ;

2 4 8 16
x+ + + + ∞ =

1 1 1
.......... ;

3 9 27
y+ + + ∞ =

1 1 1 1
.......... ;

2 4 8 16
x+ + + + ∞ =

11 nn

n n

a b

a b
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28. The height of an equilateral triangle is √3, the area of the triangele is –––––––

JMýS çÜÐ]l$»êçßæ$ {†¿¶æ$f… G™èl$¢ √3, AÆ‡¬™ól §é° OÐðlÔ>ËÅ…  ––––––– 
(    )

1) √3 2) 3 3) 4) 

29. Radii of two circles are 2.5 cm, 1.5 cm, Distance between their centres is 8 cm . Then length
of transverse common tangent is ––––– cm.

Æð‡…yýl$ Ð]l–™èl¢ ÐéÅÝëÆ>®Ë$ Ð]lÆý‡$çÜV> 2.5 òÜ….Ò$, 1.5òÜ….Ò$., Ðésìæ MóS…{§éË Ð]l$«§ýlÅ§ýl*Æý‡… 8
òÜ….Ò$. AÆ‡¬™ól †Æý‡ÅMŠæ EÐ]l$Ãyìl çÜμÆý‡ØÆó‡Q ´÷yýlÐ]l# ––––––– òÜ….Ò$.

(    )

1) √3 2) 3) 4) 

30. If ∠A+ ∠BOC= 120°, then ∠A= –––––––– 

ç³r… ]̄l$…_ ∠A+ ∠BOC = 120° AÆ‡¬™ól ∠A= –––––––– 

(    )

1) 40° 2) 60° 3)  80° 4) 100°

31. If two vertices of a triangle are (7, 2) and (1, 6) and its centroid is (4, 6), then third vertex
is = ––––––––––

{†¿¶æ$f… Äñæ¬MýSP Æð‡…yýl$ ÖÆ>ÛË$ (7, 2), (1, 6) §é° VýS$Æý‡$™èlÓ MóS…{§ýl… (4, 6) AÆ‡¬™ól Ð]lÊyýlÐ]l
ÖÆý‡Û…  = ––––––––– (    )

1) (10, 4) 2) (5, 2) 3) (4, 6) 4) (2, 5)

32. If (k, 2k) ; (2k, 3k) , (3, 1) are collinear than K = ––––––– (    )

(k, 2k) ; (2k, 3k) , (3, 1) Ë$ çÜÆó‡TÄ¶æ*Ë$ AÆ‡¬™ól K = –––––––

1) 1 2) -1 3) 2 4) -2

33. Slope of the line whose intercepts on co-ordinate axes are 3, 4 is ––––––– (    )

°Æý‡*ç³MýS A„>ËOò³ 3, 4 A…™èlÆý‡ Q…yéË$ ó̂lõÜ çÜÆý‡â¶æÆó‡Q ÐéË$ = 

1) 2)    3) 4)    
3

4
−1

2

4

3
−3

4

4 33 32 3

2 33 3
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34. The point on y-axis equidistant from (2, 1), (4, 5) is –––––––

(2, 1) (4, 5) ¼…§ýl$Ð]l#Ë ]̄l$…_ çÜÐ]l* ]̄l §ýl*Æý‡…ÌZ VýSË y-A„ýS…Oò³ ¼…§ýl$Ð]l# 
(    )

1) (0, 0) 2) (0, 9) 3) 0, 9/2) 4) (1, 0)
35. Area of the triangle formed by the line x cos α+ ysinα = p with the co-ordinate axes is 

x cos α+ ysinα = p çÜÆý‡â¶æÆó‡QÌZ ]̄l$, °Æý‡*ç³MýS A„>Ë™ø ]̄l$ BÐ]l–™èlÐ]l$Äôæ$Å {†¿¶æ$fOÐðlÔ>ËÅ…
(    )

1) 2) 3) 4)

36. If sin θ + cos θ = a then sin θ – cos θ = ––––––––– (    )

sin θ + cos θ = a AÆ‡¬™ól sin θ – cos θ = –––––––––

1) 2) 3) 4)

37. cos1°. cos 2° . cos 3°.cos 4° ........ cos100° (    )
1) 0 2) 1 3) –1 4) 2

38. then cosec θ = –––––––– (    )

1) 2) 3) 4)

39. sin6x+ cos6x = –––––––––– (    )
1) 1–3 sin2x cos2x 2) 1+3sin2x cos2x
3) 1–3 sin4x cos4x 4) None

40. The tops of two poles of heights 20m 14m, are connected by a wire. If the  wire makes an
angle of 30° with the horizontal, the length of the wire in metres in between two poles is.

20Ò$., 40Ò$. G™èl$¢VýSË Æð‡…yýl$ çÜ¢…¿êË A{V>Ë$ JMóS ¡VýS™ø MýSÍí³ E¯é²Æ‡¬. B ¡VýS „ìS†fÐ]l¬™ø
30°Mø×æ… ó̂lçÜ$¢…sôæ, ¡VýS ´÷yýlÐ]l# Ò$rÆý‡ÏÌZ (    )
1) 8 2) 10 3) 12 4) 14

mn

2 m n+
2 mn

m n+
m n

2 mn

−m n

m n

+
−

m n
sec

2 mn

+θ =

22 a+22 a± −22 a−2 a−

2p

2sin cosα α

2p

sin .cosα α

2p

cos α

2p

sin α
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41. If ; , AB = BA then a = –––––––– (    )

; , AB = BA AÆ‡¬™ól a = ––––––––

1) 2)  3) 4)  2

42. If then A2– (a+d)A+(ad – bc)I = ––––––––

(    )

AÆ‡¬™ól A2– (a+d)A+(ad–bc)I = ––––––––

1) I 2) AI 3) A3 4) 0

43. [x, y] = 
(    )

1) [ax2 + 2hxy + by2] 2) [ax2+by2]
3) [ax2 – by2] 4) [2hxy]

44. ; then (AB)–1= ––––––––
(    )

1) A–1B–1 2) A–1B 3) AB–1 4) B–1A–1

45. ; ; If AB = C value of x is  ––––––––

; ; ; AB= C AÆ‡¬™ól x ÑË$Ð]l
(    )

1) 1 2) 2 3) 3 4) 4

46. Formula for mode is ––––––––

»êçßæ$â¶æMýS… çÜ*{™èl… (    )

1) 2)

3) 4) all above 
1

1 2

(f f )
L C

2f (f f )

−+ ×
− +

1

1 2

(f f )
L C

(f f ) (f f )

−+ ×
− + −

1

1 2

L C
Δ+ ×

Δ + Δ

5
C

0

⎡ ⎤
= ⎢ ⎥

⎣ ⎦

2
B

1

⎡ ⎤
= ⎢ ⎥−⎣ ⎦

x 3
A

1 2

⎡ ⎤
= ⎢ ⎥

⎣ ⎦

5
C

0

⎡ ⎤
= ⎢ ⎥

⎣ ⎦

2
B

1

⎡ ⎤
= ⎢ ⎥−⎣ ⎦

x 3
A

1 2

⎡ ⎤
= ⎢ ⎥

⎣ ⎦

1 1
B

3 2

−⎡ ⎤
= ⎢ ⎥

⎣ ⎦

2 3
A

4 1

⎡ ⎤
= ⎢ ⎥−⎣ ⎦

x

y

⎡ ⎤
⎢ ⎥
⎣ ⎦

a h

h b

⎡ ⎤
⎢ ⎥
⎣ ⎦

a b
A

c d

⎡ ⎤
= ⎢ ⎥

⎣ ⎦

a b
A

c d

⎡ ⎤
= ⎢ ⎥

⎣ ⎦

7

4
−

2

3

3

2

a 0
B

1 1

⎡ ⎤
= ⎢ ⎥−⎣ ⎦

2 3
A

4 1

⎡ ⎤
= ⎢ ⎥−⎣ ⎦

a 0
B

1 1

⎡ ⎤
= ⎢ ⎥−⎣ ⎦

2 3
A

4 1

⎡ ⎤
= ⎢ ⎥−⎣ ⎦
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47. The  mean of 11 observations is 17.5. If an observation 15 is deleted, then the  mean of
remains observations is –––––––– (    )

11 A…Ô¶æÐ]l¬Ë çÜVýSr$ 17.5, JMýS A…Ô¶æ… 15 Ð]l¨ÍÐólíÜ ]̄lrÏÆ‡¬™ól Ñ$WÍ ]̄l Ðésìæ çÜVýSr$ 
1) 16.75 2) 17.75 3) 18.75 4) 19.75

48. The mode and Median of a uni-model distribution are respectively 76.7 and 73.9. The mean
is –––––––

JMýS Ä¶æÊ°Ððl*yýlÌŒæ Ñ¿¶æf¯é°MìS »êçßæ$â¶æMýS… 76.7, Ð]l$«§ýlÅVýS™èl… 73.9 AÆ‡¬™ól çÜVýSr$
1) 70.5 2) 72.5 3) 74.5 4) 76.5

49. A pictorial representation of the sequence of steps for solving a problem is –––––
1) program 2) computation 
3) algorithm 4) flow chart

çÜÐ]l$çÜÅ ]̄l$ Ýë«̈ … è̂lyé°MìS ç³r… Æý‡*ç³…ÌZ Ð]lÇ~… è̂lyé°² ––––– A…sêÆý‡$.
1) {´ù{V>ÐŒl$ 2) MýS…ç³NÅsôæçÙ¯Œæ
3) BÌŒæV>Ç«§ýlÐŒl$ 4) {MýSÐ]l$_{™èl…

50. Name of the box used for decision taking is 
1) square 2) Rectangle
3) Ellipse 4) Rhombus

°Æý‡~Ä¶æ*Ë ]̄l$ çÜ*_… è̂lyé°MìS Eç³Äñæ*W… ó̂l õ³sìæMýS
1) è̂l™èl$Æý‡{çÜ õ³sìæMýS 2) ©Æý‡ƒ̂ èl™èl$Æý‡{çÜ õ³sìæMýS
3) ©Æý‡ƒÐ]l–™é¢M>Æý‡ õ³sìæMýS 4) Æ>…º‹Ü õ³sìæMýS

KEY

1) 2 2) 1 3) 4 4) 4 5) 2 6) 1

7) 4 8) 1 9) 2 10) 2 11) 2 12) 3

13) 2 14) 4 15) 4 16) 3 17) 3 18) 3

19) 3 20) 3 21) 3 22) 1 23) 3 24) 2

25) 4 26) 2 27) 2 28) 1 29) 4 30) 1

31) 3 32) 4 33) 2 34) 3 35) 4 36) 3

37) 1 38) 1 39) 1 40) 3 41) 3 42) 4

43) 1 44) 4 45) 4 46) 4 47) 2 48) 2

49) 4 50) 4
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